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1. The roots of the quadratic equation
X° +5x+6=0are

a) 2.3 b) 5,6 c) -2,3 d) -2,-3
=y fgara THieRoT & o &I |
X° +5x+6=0are
(a)2,3 b) 56  c) -2,3 d) -2,-3

2. Dividing 100 into two parts such that the first part s
3 times of the second part. Then the smaller part is
a) 80 b)75 )25 d) 20

100 &I a1 | H g9 dva diel 7a1 fdb UH HIT
fgdla wrT &1 3 AT 8 < WIS W 81 |
a)80 b) 75 c)25 d) 20

. A ladder of length 5 m is placed against a wall. The
ladder is inclined at an angle of 45° with the ground.

Then the height of wall will be

(@) 5m b)5v2m ¢)5/v2m d)1/v5m

TP 5 A S B A TP AR W 39 UBR e ' fd
q8 sRIdel ¥ 45° &1 B g4l B | dl QAR B oy 81 |

a)sm b)5v2m c¢)5/v2m d)1/v5m
4. Saleem bought a horse for Rs 35000, the charges to
bring is Rs 5000. If he sales the horse for Rs 50000,

then the profit percentage is

(a) 25% b) 30% c)70% d) 20%

T 3 TP HIST 35 B0R ®0 H WAQT TAT IH AT B g
5000 ®0 & ufe g8 €IS @I 50000 w0 # d°AT & dl IUDI <M

ufaed s |

a) 25% b)30% «¢)70% d) 20%
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If the probability of raining a day is 0.65 then the

probability of not raining that day is

a) 1 b) 0.35 ¢)0.45 d) O

afe fpd fom aiRy 891 &) wifiddr 0.65 T SS9
e qRy 9 a4 @ wifdddr il

(a) 1 b) 0.35 ¢) 045 d) 0

After 15 years a man will be three times as he was
15 years ago, then his present age IS

a) 20 years b) 25years c) 28 years d) 30 years

v @ 15 ¥ gsard S S¥ P73 AT E WA S
R  dg 15 a¥ gd o1 o1 Iud adHE g BN |
a)20ad b)25ad c)28ay d) 30 @

- . . 2
Diagonal of a square is of 10 cm. lts area in ¢m
1S

2) 81  b)SO ¢ 100 d) 40

ey 77t 1 feot 10 cm. 8 T SHST &5 cm” ¥
BT |

a) 8l b) 50 ¢) 100 d) 40

The mean for the following distribution is
g1 @& iT B 10
& 2 3 8 5 2

a) 6.5 b) 6 c) 7 d) 7.5

d) 7.5
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9. The diamet here i | ' L
e diameter of a sphere is 6 cm. It is melted and drawn 6. The value of

into a wire of diameter 2 mm. Then the length of wire is 1+cos @
a) I2m b)I18m «¢)36m d) 66 m a) cosecH +cotf b)cosechd —coté
c)cosB +siné d) cos@ —sin#

Ud Mol & ATH 6 AH). & 39! Ruars 2 { @ I B IR
Gl GIdr 8 @ dR &) ofsrg &rf |

sin @

= ®T AT BI9T |
a) 12m  b)I18m ¢)36m d)66m S
10. The ratio of two natural numbers is 3: 7 and the product i)) szsgeigs; (g)t ¥ 3; Egze;f ;rf gt&
of these numbers is 336. Then the bigger number will |
be
7. Diameter of a circle is 20 cm, from the centre of
a) 35 b) 74 .28 :
) ) ). 2 d) 66 the circle at a distance of 8 cm two chord are
: ot : - situated. The length of each chord will be
Gl ITHfAsh HEATHT AU 3:7 & 3R 37 Heansi
ST AUTAR 336 & Al o1 T&AT graf (a) 5 cm (b) 6 cm
(c) 10 cm (d) 12 cm
a) 35 b) 74 c) 28 d) 66
fHEl g0 &1 A 2099 21 g B D ¥ 8 9. T W
Il. If points (2,3),(5,6) and (a,-2) are collinear then the gl Siare R 8 o gdd ofar &) ofears &rft |
value of a is
a) -3 b)7 )2 d) -2 (a) 5cm. (b) 6cm.

(c) 10cm. (d) 12cm.

afe 2,3),(5,6) 3k (a,-2) W@ & 4 .
S 197 (2,3),(5,6) \8,-2) e § tra = A g 18. [t 2x-y=28and x+y =1 then the value of x.y is

a) -3 b)7 2 d) -2
) ) . ) a) 1 b) -1 c) 6 d) -6
12, Which of the following is an irrational numb
o irrational number uﬁzx-y-——-saﬂ‘{wy:]H’rx.yaﬂW%’
a) I b) -1 c) 6 d) -6

19. HCF of 6(x” — 4) and 15(x’ -8) is

a) (2 +V2)(2- \2) bV o) 2-2 d)5n (a) 150 -8) (b) 6(x2 - 4)
13. . The greatest number of 6 digits exactly divisible by () Px+e) (d) AXE)
24,15, nd 36 is 6(x” —4) 3R 15(x* -8) &1 HCF &n
a) 999720  b) 999820 ¢) 999960 d) 999120 (a) 15(x° -8) (b) 6(x> — 4)
: . 6(x+2 d 3(x-2
BF 3Pl T dg a1 § T TEAT ST 24,153 36 T (©) ik (d) (x-2)
quI: fasnfara gy o gt 20.  SetA={1,2,3}, B=(3,4}and C = {4,5,6} then
AU(BNC)is
a) 999720 b) 999820 ¢) 999960 d) 999120 (a) (1256) (b) 3)
14. If 22, 5 = S then the value of X is (€) 11,2,3,4,5,6) (d) 11,2,3,4}
aqwa A=1{1,2,3}B={3,4} 3k C={4,5,6} & a
a) 2 b) 4 g} 3 d) 6 AU(BNC) &m
qME 2V S=SE A x FW A @ {1,256} b) (3}
(c) {1,2,3,4,5,6} (d) {1,2,3,4}
a) 2 b) 4 ) S d) 6
21. Which one is not a storage device?
5. Ifx +y =12 and xy = 32 then the value of x> + y© is
(a) Floppy (b) Compact Disc
a) 80 b) 60 ¢) 144 d) 64 (¢c) Pendrive (d) Digitizer
Ufax+y:l23ﬂ'(x.y=32€l’rx3+y3$rm;rg [ H 1 ®IF U R IUSHR0T F&l 8 |
a) 80 b) 60 ) 144 d) 64 (@) Tt (b) 3
) " ;. (c) U7 g13a (d) fsfirerger
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22.

23

24.

29,

26

27.

Which one of the following is not a computer
language translator?

(a) Compiler (b) Interpreter
(c ) Assembler (d) Inverter

e § § P9, TP W] JAATGD el 8 |

(a) HHTZR (b) sTexfiieRr
(c) TR (d) g7

Decimal System equivalent of Binary Number
(1110)g will be.

(a) 12 (b) 13 (c) 14 (d) 15

fEamem 3iF (1110)g BT QTS JUTMel! F HIF B

(a) 12 (b) 13 (c) 14 (d) 15
Computer memory cannot be measured in

a) TB b)MB ¢) GB d) KM

prgex AR @ e 4 @ fGad 8] A S dadl
a) TB b) MB c) GB d) KM

The alphabets A,B,C,D.E.F are used in which
number system

a) Binary b) Octal
¢) Decimal d) Hexadecimal

fhe R Reed § AB,C,D,E,F &1 gxd#ret 8l
Z |

a) Binary b) Octal
c) Decimal d) Hexadecimal

Who among the following uses a concave mirror?

a) Automobile driver b) Shop Keeper
c) Dentist d) All of these

e 3 @I 3radal edul FAT Bl B

a) AcHEEgd dicid  b) gdhrTar
¢) &d Rfdca® d) Sulad a4

Magnetic lines of force due to a bar magnet are
very similar to that of a-

a) Current Carrying Straight wire b) Solenoid
c) Two parallel wire d) none

qUs G NI I TP T Y@ GHA BT B |
a) gl dreid gl b) ufR=iferant
¢) T HATR dTAD d) ®I1g ol

28.

29.

30.

31,

SZ.

33.

If an appliance consumes one joule of energy in
one second, then its power will be
a) 1 Watt b)1Kw ¢)10 Watt d) 0.1 Watt

afe FIE IUHRO TH AHS H [P S FHoil ST B
2 |9 Sad| el Bl

a) s dic  b)1 fdardre ¢) eudie d) o1de

1 nm is equal to
a) 10'm b) 10°m c)10°m  d)10°m

1 nm d3&] B

a) 10 ‘m b) 10°m c) 10°m  d) 10°m

How much heat in calorie will be consumed, 1f a
heater of 1000watt is used for one hour?

a) 1000 b) 8.57x10°
c) 4.2x10° d) 4.2x10°

afe 1000 dfe @1 Bex U B ddb Siel dl SA~ S
Soird A srfl-

a) 1000 b) 8.57 x 10°

0 42x10°  d)42x10°

An electric motor converts

a) Electric energy in to mechanical energy

b ) Electric energy in to chemical energy

¢) Electric energy in to heat energy
d) Electric energy in to light energy

fagra Arex uRafdfa &l & -

a) fgd Sott &1 Fife Hofl |
b)ﬁgﬁwiaﬁiwmﬁaﬁmﬁ
¢) fe@ St B FT ol A
d) fae@ Foit B gBE Fol A

inside water, an air bubble behaves
a) Like a convex lens b) Like a concave lens
c) Like a flat Plate d) (a) and b) both

il & a1y ®1 gergen AAER Bl & |

a) 9T o9 I TRE b) araad o Bl TRE
) HHTE @IC DI TRE d) (a) and b) Tl T%E

The motion of planets in the solar system IS an

example of conservation of
a) Mass b) momentum

c) Angular momentum d) Kinetic energy

A% dea ¥ UEl B T fPED HREv B SN 8

a) gaArE b)) HaT c) B FHAT d) miferst el
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34 The ratio of the refractive index of the red light to the
blue light in air is
a) Less than unity b) Equal to unity

c) Greater than unity d) none of above

ary ¥ el Wby @ Al YbIY b JuciHId Bl AU BT |

a) Udhid | HH
C) Ui A SII&]

b) Udid H &XEr
d) ®ig sl

35. The time of charged particle undergoing a circular
motion in a uniform magnetic field is independent its

(a) Mass (b) Charge
(c) Speed (d) Magnetic Induction

g@ﬁuaﬁﬁﬁuwﬁrmﬁaﬁfﬁamﬂ
arziawafi‘mﬂéﬁ Al B |

a) g5 b) 34y C) o d) grdId URI
36. A person uses a lens of power +3D to normalize vision
Near point hypermetropia eye is

(a) 2m (b) 1.66m  (c) 1m (d) 0.66 m

vap afad +3D &nTdr daral o BT JUATT PRl B T G
2y arel afda & fwe fag &

a) 291, b) 1.66 HI. c)1®  d) 066 Hl

37.  On heating a liquid, the refractive index generally
(b) Increases
(d) None of above

(a) Decreases
(c) Remain Constant

FFE T B TH P W SEDT JUIATD

a)gcdr B | b) e 8|
¢) fraa & 8 | d) @3 el

38 On heating a body which the colour corresponds to
highest temperature

(a) Red (b) White  (c) Orange (d) Yellow

By e Y T B O Ao AT W WA T B

a) e b) HHT c) IR d) qrefn

39. In conductor the flow of current is
(a) Flow of molecules (b) Flow of positive charge
(c) Flow of free electron (d) Flow of atoms

5 aTeTE § U BT YaATE B |

b) e TcHE ATAY BT FdT8
d) uRETvR BT UdIE

a) 3o T yarE
¢) ¥ad geidgTd &1 Udig

40. f the refractive index of water with respect air is
4/3, then refractive Index air with respect

waterwill be

a)4x3 b)3/4 c) 4/3 d) 2/4

qﬁmargcﬁwﬁa{amaﬁm?ﬁus%aaa@aﬂqﬁrzﬁ
HTYe JUATID B

a) 4x3 b) 3/4 c) 4/3 d) 2/4
41. The scalar quantity is

a) Current b) Force ¢) Velocity d) Displacement

Ffew <y 8

a)ar  b)dd c) a7 d) fazeng+

42. Nuclear force is
a) Short range  b) Strongest force

c) Attractive d) All the above

TP 9 B
a) g TR¥ER b) frgad ad
c) ITHUYI d) SuRra |
43. The resistance of the conductor increases with

a) Increases in the length

b) Increases in the temperature

c) Decreases in Cross- sectional area
d) all of the above

ZTe® BT Ut gl 8

a) ofaTg 9g1 © WY
b) T &1 & A
c) e uRET B AP g & A
d) Suiad Tl
44. Which of the following does not affect the velocity
of sound?
a) Temperature b) Medium
¢) Pressure d) Humidity

o # fpg TR eaf &1 3 iR e AR

a) am™ b) AETH
c) d) amadl

45 The planet nearest 10 earth is

a)venus b) Mercury
c) Mars d) Jupiter

q&ﬁﬂmﬁﬁﬂqﬂ'ﬁ%—

a) 9 b) W& C) q d) R
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46 Particle present in the nucleus of an atom are:

a) Proton & Electron b) Electron & Neutron
¢) Proton & Neutron  d) None of these

B A U U & HIfAd H Y Wi 2

(a) gIet a geragr (b) geragt a =g
(c) g a =g (d) sTHIABSIIE]
47. Phosphate ion is

a) PO, b)PO,” ¢)PO, d)PO*

BIEhC AT & —
@ PO, (b) PO," (c) PO, d) PO
48. Electron was discovered by
a) Chadwick b) J.J. Thomson

¢) Rutherford d) Henry Becquerel

golagid &1 Jfaspr fbaqa fhar —

(@) Jefded (b) ol .ol THEH
(©) Yl (d) &8 AR
49.  Atomicity of Nitrogen is
a) 4 b)2 ¢) 1 d) 3
AEGIO DI IRATH 8
a) 4 b) 2 ¢) 1 d) 3

50. A solution turns blue litmus red, its pH is
a) 11 b) 8 g) 3 d) 10

a8 faergd ol Al ferewss &1 o # 9gel adr &, S9! pH
BT

(a) 11 (b) 8 ) 5 (d) 10

51.  Main constituent of liquefied petroleum gas is
a) Methane b) Ethane ¢) propane d) Butane
Nl Igiforas 1 &1 H% Hucd 8-

(@) AR (b) T
(c) oo (d) e

52. Which isotope is used in Radiodating

) 6C” b) 6C12 c) 6CI3 d) GCH

MSarefeT # fby gy &1 ganT fhar S 8-

@ €7 () 7 () L7 @ £°

53. The functional group present in Ketone is
a) - OH b) - CHO ¢)>C=0 d) - COOH
HICH H§ B 41 fhars 998 @
(a) - OH (b)=CHO (¢)>C=0 (d) = COOH
54.  Producer gas is a mixture of
a) CO + H, b) CO,+ N,
¢c) CO + N, d) CO,+ H,
UTSYERY T Ao 8-
(@) CO+H; (b) CO, + N,
(C) CO + N, (d) CO, + H,

55. Which metal dose not displaced Hydrogen with dilute
Sulphuric acid

a)Zn b) Mg ¢) Cu d) Fe

v A g1 d- AR 3t & WY fhar dd grggloi &l
favernfad =gl el ?

(a) Zn (b) Mg (c) Cu (d) Fe
56. Tyndall Effect is shown by

a) True Solution b) Colloidal Solution
¢) Suspension d) All the above

froge guTg <§far 8-

(a) arafa® e (b)
() Frereas (d)

CIRIFEEREGEE!
IURIEd 4l

57.  Formula of a compound formed by Ca”" and PO,’ is
a) Ca(PO,); b)CaPO, c¢)Ca(POy), d)Cas;(POy),
Ca’*q PO, & diffva &1 @i A1 YA - T—
a) Ca(PO,;); b) CaPO, c) Ca (PO.), d) Cas(PO,);
58. CO-60 is used in the ti‘eatment of

a) Thyroid disorders b) Leukemia
c¢) Blockage of arteries  d) Cancer

CO-60 &1 waI7T fhasd IUdaR & & forv fbar Srdr a—

(@) ITINISS AP (b) A
(c) gafaal § ogadt ¢441 (d) DN

59. The fundamental basis for Mendeleev’s table i1s

b) Atomic Weight
d) Molecular Weight

a) Atomic Number
¢) Equivalent Weight

(a) OATY] HHTD (b) GRHV] YR
(c) T R (d) 3R
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60. Acid rain is due to increase in atmospheric |
concentration of 67. 1 would have bought a new car for her but it

00 expensive.

a) O; and dust b) CO, and CO
¢) SOsand CO d) SO, and NO, (a) were (b) are (¢) was (d) can
ety ayl fbw grdravoiig wrgar § gfyg & dru id) 28— 68. Workout is necessary health
(@) O; F ¢a (b) CO, g CO (a) by (b) to (¢) for (d) In
(€) SO; 3 CO (d) SO, a NO,
69. Complete shutdown ~ observed today
61. Alkali metals form against new law.
a) Basic oxide b) Acidic oxide (a) 1s being (b) can be
¢) Covalent hydroxide  d) Non ionic halides (c) 1s been (d) was been
EIR ©1¢], g1 # 70. It is necessary for government to their
| 3 pcople's life better.
.‘ (@) &g 3ifaarss b) el RIS S
: (a) makes (b) make (¢) making (d) be made
(C) N1BEAGID BISSIRISS (d) 44 3alAe gdrgsy

62. Galvanization of iron means coating Lron with 55>5>555>5>> THE END >>>>>>5>>>>

(a) Zl:‘ (b)Cr Rough Work
(c) Ni (d)Al

GENHRY] dbT dTdd &, cle U fhud! uyvd agr]

(a) Zn (b)Cr
(c) Ni (d)Al

63. [TUPAC name of HCOOH 1s

i a) Ethanol b) Methanol
¢) Methanoic acid d) Ethvl ethancalte

HCOOH @1 31id g 01v el A4 2

(a) gudia (b) Merdid
(c) AeHTEH 3 (d)3TSe SUAITE

64. The most abundant element on carth crust 1s

a) Hydrogen b) Oxygen ¢) Silicon  d) Carbon

=1 4 ¥ &9 91 T@ gedl R [ad IHfUd 8
(a) ;1ggloi  (b) sifaiio  (c) Fifeiwid  (d) @rde
65. Brass i1s a mixture of

a) Cu+2Zn b) Cu+ Sn
¢c) Cu+Zn+ Ni d) Al+Cu+ Mg + Mn

Nda Mo 8

a) Cu+Zn b) Cu-+ Sn
¢) Cu+Zn+ Ni d) Al+ Cu+ Mg + Mn

66. Choose the word which best expresses the meaning
of the word “ALERT’

(a)  Energetic (b) Observant
(c) Intelligent (d) Watchful
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